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Instructions for the candidates :

1. ST qureNe YA Y=l 5 8 W 3 _
Candidates are required to give their answers in their own words as far as
practicable.

N

e sz @i @ R gu o quits Fife ae &1

Figures in the right hand margin indicate full marks.

5. 9 T % A g g & Ry 15 Bz @7 e @ R T &

15 minutes of extra time-have been allotted for the candidates to read the questions

carefully.

4. 9% F¥AYA & @UEl H § — WVE-I 04 WOE-q/
This question paper is divided into two sections — Section-4 and Sgction-B.
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in Section-A, there are 60 objective type questions, out of which any SO questions

are to be answered. First 50 answers will be evaluated by the compuler in case

more than 50 questions are answered. Each question carries 1 mark. Darken the

circle with blue / black ball pen against the correct option on MR Answer sheet

provided to you. Do not use whitener / liquid / blade / nail ctc. on OMR-sheet,
otherwise the result will be {nvalids

6.

TUI-T 4 2799 5D w7 & i @ frd 15 5t &1 I W dfvard &
NI G & 0 2 s B &1 s sifsfre 39 G i 8 3 Iwerw vy g

T 8, Bl § et a st @ g 3 1 v e & e s o Fifa &)
In Section-B, there arc 27 short answer type questions, out of which any

15 questions are to be answered. Each question carries 2 marks. Apart from this,

there are 8 long answer type questions, out of which any 4 questions are to be

answered. Each question carries 5§ marks.

|

181 SR ¥ FATGITE IYHV & T qUiear S &)

Use of any electronic appliances is strictly prohibited.
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g - A / SECTION - A
| iﬂﬂﬁﬁs W¥T / Objective Type Quostions
WY WEar 18 60 aw & WvT & @ ur fraew R nv & Rk @ vw wt 1 et

505¥ & Fav e gRT g ¢ W frwew wt oMR e Ov fafdra wi i

50x1=50

Question Nos. 1 to 60 have four options, out of which only one is correct. Answer any
S0 questions. You have to mark your selected option on the OMR-Sheet. 50x1 =50

1. 6drcm? SFARC At gel &1 =14 &

(A)  15cm B) 16cm
(C) 20 cm (D) 17 cm
The diameter of a circle with area 64 cm? is
(A) 15cm (B) 16cm
(C} 20cm (D) 17 ecm
2, fﬂ‘ﬁAD{-:F'r'ﬂnAPORﬁff\'ﬂT?hznu/oﬁm,:R=1J£Fﬁ'f‘=rr=l%ﬁ§'ﬁﬂﬁ
F-U G & 2 | |
(A £F=4P By <4ZF=4Q
(D) <£E=LP

(C) ZD=£P
In ADEF -and APOR it is given that /D = ZQ and £R = ZE ; then which of the

following is true ?

A} LF=sP (B) 4F=20
(C) <«D=«P (D) £E=/P
3. WA G 2x+3y =5 TN 4v4 6y =15 T
(A e g (B) I &
) Wi F T D) T |+ T

The pair of equations 2x +3y =5 and 4x+6y =15 have

(A)  unique solution - (B) infinitely many solutions
(C) no solution (D) none of these

Page 30f24
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4 ‘*“"15“‘-?11?mnama5m-n?iﬁmﬁ#.ﬂ?m‘““ﬂt
A P 2
iy 2 o 4
HHCF of b3 and 117 is in the form of 65 m - 117 then the value of m is
(A) ] B 2
< 3 D)y 4
> 2,10 WR 20 & Fodte AR Moo F A &
Al 110 B 10:1
cF % 4 D) 11:1
The ratio of the LCM and HCF of 2, 10 and 20 is
Al 110 By 10:1
(C) 43 (D) 11:1

($)

TR &% o ) o |, AR b S h d A S e

(A} Ibh B~ J2+b2+n3
€ 2k (D)  2(lb+bh+1lh)

If the length of a'cuboid is I, width b and height h, then the volume of the
cuboid is

(A) bk B  J2+b?+h2

(C) 2. (D) 2(lb+bh+th)

~i

wnl0®uinls5®tan75°tan80° = ?

A 3 (B) 7‘;

) =1 D) 1
" fr=ttefgn 7 @ &F-1 frae g g 2

(A) 2% -3x=(x+1 B) x?-2/x+3=0
12) 3x? +2=(3-x2+4 (D) x’__x%=4
i. 1 10 I G 515_1‘6:2} (17) Page 4 of 24
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Which of the following is a quadratic cquation ?

A) 2 -3x=(xe1)? B) x?-2/x+3=0
C) 3x?+2=(3-x+4 0 «£-Lag
x2
Y. U 489 AR TE W & IR guE &) ofe I Fang o wnm @, @ =
TG & FATA &
Al 1:2 B 2:3
€ 3:2 o 3:1

The bases of a cylinder and a cone are same. If their heights are also same, then

the ratio of their volumes will be

A) 1:2 B) 2:3
{1 Frd Dy 3:1
10. 38 R fag ot fe fagait A(-1,0) 3R B(5,0) ¥ FITEIEL, &
A (0,2) 4B ~(2,0)
€ (3,0) , By (0,3)
The point-on x-axis which.is equidistant from points A(-1,0) and B(5,0) is
(A (0,2) , (B) (2,0)
) (3.0 (D) (0,3)
(L. =10i~B,2.% ....34ﬁrﬁ‘faﬁ_#@r% ‘
(A) 15 B} 12 .
i 13 (D) 14
The number of terms in -10, -6, -2, 2, ..., 34 is
(A) - 15 (B) 12
() 13 D 14 ‘
12, faz (6, -5)F cFamE &
A 6 (B) -5
(C) -6 D} S
[ 110 ] G [5010-G o7 Page 5 of 24
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The x-coordinate of the point (6, = 5 ) is

A) 6 @ -5
) -6 D) 5
13, R g x(2x- 5)- 3 & v w am
4 5
(A) 5 (B) &
o -3 o 3
The sum of the zeros of the quadratic polynomial x{2x - 5)-3 is
2 5
W 3 B -3
3
(€) . (D) %
14, 1+2+3+. . +nTEHE
A n+l | n{n's 1§(n'+ 2)
(A) 5 (B) 5
nin+1) -1
€) - (D) n{n2 )
1+2+3+ .., +Risequal'to :
A - n;l_ B) n[n+12)[n+2}
7 nn+l) -1
g Ratll o Aol
15, Frlefga d A sR agw & 2
3 1
(A) x2—5x+4&+3 (B) x2-x+x2+1
€ x4 D)  2x2-33x+6
Jx
Which of the following is a plynomial ?
3 1
(A)  x?-5x+4Jx+3 B) x2-x+x2+1
(C) x4 ‘ (D)  V2x%2-3/3x+V6
Jx

[110] G |5010-G a7 Page 6 of 24
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16.

17,

18.

19.

12 m $ @V & T R T3 @ o # w4 4y3 m ¥ g I
W 60° - B) 45°
©  30° (D) 90°

The length of the shadow of a 12 m high pillar falling on land is 43 m. The

angle of elevation of the sun is
(A)  60° (B) 45°
(C) 30° : (D)  90°

AABC U& qus fax & faed 2= 90° & Al cos(A+ B) #1 9H §

W o | B 1
o B

(©) ;

1
2
AABC is a right angled triangle in which ZC =90°. The value of cos(A + B) is

A) O B 1
| 1 NEY

(C) 5 (D) 5
fagail (2,3)W (-2, 3)FdaF g &

W 3 By 4
C) S D). 6
Distance between the points (2,3 )and (-2,3)is
(A) 3 B 4
€ 5 D) 6

e 4o @ WF & MR FI B 35 4 F I H & T I FARA 2:3F
U # &1 A0 & S H FAA ¢
lf(ﬁi\/3:4 | By 9:8

) 8:9 (D) 4:3
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The radii of the bases of cylinder and a cone are in the ratio 3 : 4. If they have

their heights in the ratio 2 : 3. the ratio of their volumes is
(Al 3:4

B 9:8
€) 8:9 (D) 4:3
20. g3 4 s, 17001 x F AN 6 R, W x W AR B
Q- 1 B) 2
C) 3 (D) 4
If the mennof 3, 4, 5, 17 and x is 6, then the value of x is
Ay 1 B 2
< 3 D) 4
2L 3.4,7,2,7,6,7,9 % TgewE §
A} 2 (B)
L7 . (D)
Mode of 3, 4.7, 2,7, 6,7,9is
A 2 (B)
< 7 . (D)
22, 13 3R 19 & i dHigwng
(A) 13 JAB) 16
€ 19 (D) 12
Airthmetic Mcan between 13 and 19 is
(A) 13 (B) 16
(C) 19 (D) 12
23. AR GUE WHER 2 - px+4=0 FAH TR A Al p=?
(A) +3 By 4
C) -+5 D) +2
If the roots of a quadratic equation x2 - px+4=0 are equal thenp=7?
A)  +3 (B x4
[ 110 ] G [5010-G ¢y Page 8 of 24
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24 u&nmummtmnmbnmmt

A} a m b
) ab (D) g
Il a and b are prime numbers then LCM of a and b is
Al a B b
I ab (D) %
25, g (vymgigrfagat
A Yadey? B 3+
© -yl D) X3

Distance of the point ( x, y) from the origin is

A ¢xP-y? B) . Wxdsp?

© x*-y . O <%
26, fafefaa & | iy srma e € 2
A) 15 : B 23
(€ 12 (D) 75
Which of the following is 8 prime number ?
(A) 15 B 23
€ 12 o) 75
27.  (1+1an0 +sec0)(1+ cotl - cosecl)= ?
(A} -l B O
c 1 D) 2
28. ufe uw ga @ 9y 2n H WA 4n w1 ¥ T, @ IRE QTS &
(A) I 4B 5T
() @RI : (D) WA
| 110 | G [5010-G 07 Page 9 of 24
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f the circumlerence of a circle is incrensed from 2z to 44, its area will be

(A)  half (B)  two times

(€)  threc times (D) four times
29, T o g & Frams b ¥ )

Ay (1,1 B) 1(0,0)

€ (-1,1) (D) wi @ wd

Which of the following is the co-ordinate of the origin ?

Ay (1,1) By (0,0)

€ (-1,1)

(D) None of these
30, x=-S® G ¥ wre a wni) o

(A)  x-38 & TR B ¥4 & GARR

© 3 forg @ i g o3, et @i
What type of straight line will'the gruphiof x=-Sbhe ?
(A} parallel to x-afis (B)  parallel to y-axis

(C)  passing through the origin (D)  nonc of these
31.  sin(90°-0)=
(A) , sin{ : (B) -sin0
() " cos0 (D) =cos0
32, Frefefea 4 4 & ofolg gen b )
a 2-43 B 5
2J/3
= D 6
& 3 D) V6
Which of the following is a rational number
A} 2-43 B) 5
2J3
L D) V6
(C) N | ( i
[ 110] G [5010-G Page 10 of 24
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33. 4z mn.:-‘;-'i?."ﬁcotnﬂm '

¥
w3 m
s % m 4
If mn--l'%.tmmn in equal to
WS m i%
€ -+ A

3 fagan A ¥ a r&nn!qﬂths‘qtf-mml

(Al (0. 12) m (60) .
ﬁﬂ'
€1 16, 4) En (0g8
The co-ordinates of the mad prent of the ba segmeni jostung the points AQ, 4)
and A(-) 8} s
W (012 m (6,0)
@ (6.-4) ™ 10.6)
35. fed o o e R ek w7t it m ek | )
JA ] m 2
i« D Dy 4
How many tangents can be drewn from an external point on a circle ?
(A) ! m 2
i« 3 oy 4
an6)®
Y T
A [
i 2 Oy 3
{110}G [010Ga Page 11 of 24 -
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a7, + feum wgue ¥+ de 2 % v &

34
'ﬂl ""st 4 "]l e E'-S-
The zeroes of the polynomial x? + -};x -2 arc
34
< - *:-% (D) none of these
38. R Al 10, 7,4, ... @ 30 & 72 Wy b
A)  -55 (B] -66
r ~97 (D) 81
The 30th term of the AP, 10,7, 4, ... is cqual td
A -55 (B], W= 66
© -77 D) 81
39. of tan0 = 2 EAl coseet"H wm ¢
17 '8
.m 8 (B) 17
15 “ 17
€ 33 @ 15
If tan0 = TB'S" then the value of coseco is
17 | | 8
15 17
€ % (I?l 15
40. 19 100 % vt Wi wEma w5 @
(A) 4050 - B so0so .
(C) 6050 | (D) 7050
[110] G [5010-Gun] = page 120120
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The sum of all natural numbers from 1 to 100 is

(A) 4050 (B), 5050
(C) 6050 (D) 7050 '
1. YW x,yﬁiﬁﬂﬁ?ﬂﬂiﬁm ax+by+c=0 % foet aifuemay g1 v € 2
A 1 (B) 2
© (D) T} w

How many maximum solutions of the lincar cquation ax+by+c=0 are

possible in two variables x, y ?
(A) 1 ' B 2

(C)  Infinitely many ' (D) nonc of these -

-n
o

TR 407 1,4, 7, 10, ... T HF-RGE 88 ¢ ?

18 26 : B) 27
€} 30 (D) 35
Which term of the A.P. 1,4, 7, 10, .«18 88?2
(A) 26 (B) 27
€ 30 (D) 35
43. T4 (-3,-5) R R At 2
W wEETE B fidg o
ef T O 9 IR
In which quadrant does the point (- 3,-5) Iie:_‘?
(A) st quadrant (B) 2nd quadrant
(C)  3rd quadrant (D)  4th quadrant

44. 2cos260° FHAAE

, ' i

(A) % ® 3

1 o3
[110] G [5010-G g7 ' Page 13 of 24
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Value of 2con? goe in

|
@ a n

al—

€ D)

-

45, F03 3 o feumn g 5w wn e 3 o 1EEE - 108 7

(A} x?-3x410 B x?+3x-10

C  x?-3x-10 (D) Wﬁ‘ﬂmﬁqﬁ

In the following which is the quadratic polynomial whosc sum of zeros is 3 and
product is - 10 ?

(A) x2-3x+10 (B) x? +3x-10

(€ x*-3x-10 (D)  nonc ofthese

PR S O —— S & TS T

2 ;o
@ 3 B -05
© 07 | D) 15%
~ Which of the following numbers cannot be the probability of an event ?
= -05
LU, (B)
C) 07 ' (D)  15%

47. mﬁﬁmﬁmsﬂtﬁﬁmmmwouoWM?

(G B) 2
© 4 T o wEw
The HCF of the smallest composite number and smallest prime number is
A 1 B 2 .
c 4 (D)  none of these
[110 ] G- [5010-G a7 Page 14 of 24
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8.tk Wi @ A, R S 1 em ¥, ®) W 4 mm 2w g e g
AR @) wwar ¥
A _l__;'ﬂ = (B) 2;5, cm
(C) 100x cm (D) 10000 cm
A wirc of 4 mm diameter is made by pulling n metallic cube whose side is | cm.
The length of the wire is
100 25
(A) T °m ; (B) — cm
(C) 100r cm (D) 10000 cm
49.  1+tan®0 =
Ay sec?0 (B)  cosec?o
(C) tan?0 (D) cot?0
s0. % < Ty fogE @ @ s § 3 4 & S K @ 6 e @
3 €
(A] 3:4 B) 4:3
o 9:16 (D) 16:9
If the corresponding sides of two similar triangles are in the ratio of 3 : 4, then
the ratio of their perimeters is
(A) 3:4 B) 4:3
(C) 9:16 (D) 16:9
51, UF WHAR fYF ABC B T PN 12 cm g, 1 Fw! Far @
(A]  6Y2 cm (B) 643 cm
(C) 3J6 cm (D) 6J/6 cm
One of the sides of an equilateral triangle ABCis 12 cm, then its height is
(A} 6J2 cm B) 643 cm '
(€ 3/6 cm (D) 646 cm
[110] G [5010-G o7 ° Page 15 of 24
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52. 3k Gutwr 3X-yw5 AW 6x-2y=k LR CER A

(Al ke B) k»# 0
(C) kv 10 D) ke-10
I the cquutions 3x-y w5 and 6x-2y =k have no solution, then
(A) k=0 B) k» 0
€ ku1o D) k=-10
MLy A 00 m’:&mimw~t3mahwnﬁ{iwm'ﬁfn}*‘
&g ¥
(A) 100 m () 100¥2 m
2 200
() vl Dy 200m

The length of the Mnng of a lute Mang at a heghflof100 4 from the ground and
angle of clevation 60° T

(A}  100m B 1002 m
(€) %m © 200 m

54, ﬁamhqunwﬁfﬁﬂwihnmwkmﬁm&
M urdw it W st b

Ad 23 em (B} % -
€ 33 em D 6cm
Il two tangents inclined at an angle of 60° are drawn 1o a circle of radiua 3 cm
then the length of cach tangent is
€ 3V3em M 6cm
| 110 ] G [S010-G an| Page 16 of 24
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55. 52 aml W OF TR W 3o} aww Feaw, zﬁﬁmwmﬁmmtn

Wk w1 T W I 03 w5 wivwa fma 7

A)

(€

A card is drawn at random from of a well-shuffled deck of 52 cards. What is the

1

. 3
52

.
B 26
o

probability of getting a king of black colour ?

(A)

€

13

02

i

(B)

56,  Frefefga 4 R #)3 coseco & wWRA § ?

(A)

©

cos()
sinQ

-
sin0

Which of the following 1s equal to cosec® ?

(A)

(€

coafll
sin0

sin0

57. 4t 2ain0 =1, M (3cot? 0+ 3) W WA ¥

M
(Ci

12
9

3
[DIE;;
B -4

sech

in0
L
LI
> Cﬂl%
| 1S
> 8

If 28in0 = 1, then the value of (3cot? 0 « 3) will be

A 12 ® 15
© 9 ° ™ 8 |
[110]) G [5010-Q un Page 17 of 24
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S8 ST T F wewn a

a1
I 3 B 1

C
© o (D)

W]

The probability of an impossible event is

|
(A L
} 5 | 1
) 0 1
(D) 3
=1 ;..":-::._-:: T s r . >
h4 T H k-~ B TE AR T )
(A} - 342,42 :
ey e IB} ""ﬂn
32
2 -3 ]
C LI, = § E;‘ti ;fﬁ

Which of the follagh h#are zeroes of x*-fx-127?

A -3/2,42 ® -3/3,-)
2
(C) -3. : - (D}  none of these
222 .

60. A7 & TIQ T8 A g 2

(A) 99 (B) 9rET
2 B D) ¥ # FE
The largest chord of a circle is
(A) arc (B) chord
(C)  diameter (D) none of these
[ 110 ] G {5010-G un Page 18 of 24
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WYY - ¥ / BECTION - B
wq I w / 8hort Answer Type Questions
AT AT z#afawaywﬂvffﬂli‘#ﬁﬂ? 18 77t & I &1 w/dw ayT & Ry

2 %% fruifta 1 18x2=30 .
Question Nos. 1 to 27 are Short Answer Type. Answer any 15 questions. Each question
carmes 2 marks. 15x2=30

), a}qmaﬁwaﬂmmhw-ﬁomﬁfﬂaaﬁuﬁmﬁﬁu 2

Three coins are tossed together. Find the probability of getting at least two
hcads.

2. feud @gug x? -2x-8 % {EH A HIAC : 2
Find the zeroes of the quadratic polynomial x%-2x-8,
3~ @ FUT sin?5° +5in? 85° + 8in? 10° 4 sin’ 80° 22. 2

Prove that sin? 5° + sin” 85% + 8in” 10° + sin? 80° = 2.

4.  TFTH aABC ® YFIEC B p R W W wa & ad e AB AR AC F
WA W FA: 0 AW R | W wwar §) fog Fifwe fE AO:--%-(MBC &
qREm) | 2

A circle is'touching the side BC of AABC at P and touching AB and AC
produced at Q and R respectively. Prove that AQ = —%{Pprimcter of AABC).

5, qmqa%aqaiwwmmﬁuﬁwqﬁmzscm%l : . 3
Find the area of a quadrant of a circle i if its perimeter ls 25 cm. 4
6. ww@ﬁwmhﬂm%mﬁmmmaﬁaﬁmﬁmmaﬁl 2

- Two dice are thrown together. Find the probability of getting even numbers on -
.both dice. )

[110] G [5010-G um ~© Page190f24
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7

8~

«’

9

10.

1

e

"R’ 71an0 =4 g1 & (75in0-3cos@y

%2 % fw5 (3. v5) ww amfrda st b1 ;
Prove that (3 + /5) is an irrational number.
mﬂiﬂmmmxﬂ_qx-l.owmfmﬁ' | « B
Using quadratic formula find the solution of the equation x2 -4x~1=0.

T TR it S 1) ) g e aw w34 §1 s
HR I FiraA 2

Determine the common difference of an A.P. whose 4th term is 11 and sum f
the 5th and Tth terms is 34,

T \ABC T AD, BCW 74 ¥ g % e (AB? + CD?) = (AC? + BD?). 2

Ina NABC, AD is perpendicular 1o BC. Prove that (4B # CD?) = (AC? + BD?).

{7sinﬂ+3m{)lmqﬁmﬁi <

If 7tan0= 4, 14 (7sin0 - 3cos0)
cn find the value of (7Sin0+ 3c0s0]"

_/12./rmwmhwgﬁmﬁvﬁfaqa’iuz,-mmBe-z.gyﬁmtl 2

Find a point on x-axis which is equidistant from the points A (2, -5} and
B(-2,9). |

13 xa#{yﬁ@mmﬁaﬁn&ﬁrﬁmyl.[?,nam{a,smm%t 2

\

Establish a relation between x and yif the point [ x, y) is equidistant from
(7.1 iandl3,5].

y/ﬁﬁmﬁ 1 HoHo 23 § I IAH! FoTo 1449 &1 AR W W& 16) ¢, @ qEd

leﬂT 1G] a’ﬁl ' . . 2
“The HCF of two numbers is 23 and thei LCM is 1449. If one number is 161,
then find the other number.

ﬁ'w_] G [5010-G un Page 20 of 24 & i =2
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15.

19.

e . e oA TR ax? e bxec FYREA @ 2+ F AT WS 2

Il @, arc the zeroes of the quadratic polynomial ax? + bx +¢, then find the

value of ﬂ'2 + []2 .

TS & fawmmt werifior @ s @ 272 AT 1032 T RoWo FR 2
Using Euclid's division algorithm, find the HCF :')f 272 and 1032,
I NG & T 9 Frepret foreat @ 14 om € 2.
Find the surface area of a hemisphere whose diamcter is{l‘} em.-

M1 @ 9H T : 2

tan? 60° + 4 sin? 45° + 3sec? 30° + 5cos> 90°
cosec 30°+ scc 60° - cot? 30°

Evaluate the following :

tan? 60° + 4 sin® 45° + 3scc2.30%+ 5c05990°
coscc 30°+ seg60%= cot? 30°

FHE g 2x+5y=lm2x+3y=3ﬁﬁ’luﬁﬁﬁiﬂﬁﬁ‘l 2

Solve thc system of cquations 2x+S5y=1 and 2x+3y=3 by cross-

multiplication method.

| 20. 0-1E$‘T§€ﬁwﬁazﬁl 2
Convert 0-16 in the form of-;i.

), U g W S 24 om 3R SR F B 7 om €, T I6F AR B
AT H ' - 2
Calculate the volume of a right circular cone whose height is 24 cm and radius
of the basc is 7 cm.

| 110 | G [5010-G a7 Page 21 of 24
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22,

23

24.

¢ 5 |
-‘-“"f“'{msﬂ,mmac'nﬂfw;paﬁtniﬁ'm"“m |
) cm 41

. -1
DE||BC, WEAD = (4x -3 ) cm, A = (8x-7)cm, BD= (3% 5
CE=(Sx-3)cem, i x &1 11 fmrsty K ikt
tively su
In AABC ., D and E are two points on the sides AB and AC respectively

- cm and
DEVIBC. 1 AD = (4x - 3 ) cm, AE = (8x -7 ) cm, BD = | 3% 1.4

CE = ( 5x - 3) cm, then find the value of x.
2
f?ﬁ.' &1 f& lanA+tanB tanAtan B,
colA+col B

tinA+tan B

Prove t]
MERIEMIY colA+col B

=tanAtanB.

TH AABC & ¥R A(-3,0), B(S,-2) @ c(-g,5) F1 7@ g B ETD

A affau 2

The vertices of a AABC are A(-3,0), B(5,-2) and.C(-8.5)- Find the

centroid of the trniangle.

Freifeifaa @ 1 wgers s @t 2
Find the mode of the follewing distribution :
-6y 0-20 | 20-40 | 40-60 | 60-80 | 80-100°| 160-120
Class-intcrval ‘
AN 30 36 52 61 38 33
Frequency
fre=teiga @2 &1 o, 3G &5 2
Find thc mcan of the following distribution :
i 0-10 |- 1020 | 2030 | 30-40 | 40-50
Class-interval
AR 7 8 16 & 10
- Frequency :

}/ﬁﬁwaﬁﬂzfmw.looo%ﬁmsa%arﬁasraimzssouo%ﬁd@r&maa‘h 2

Il the sum of two numbers is 1000 and the difference of their squarcs is
256000. then find the numbers.
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O 71T 273/ Long Anewer Type Questions
mﬂ"'nﬂasﬁﬂmmhnﬂiﬁﬂﬂawﬂtmhﬂtmi
fre s 3w fraifen 4, 42620
Vuestion Nos 28 1o 35 are Long Answer Type questions. Answer any 4 questions Each

question earmies 5 marke 4e5-20

28 TR T g4 2y e 3 AN Ax o 3y =2 ®1 UV @ 3 0@ K 5

Draw the graph of pair of equations x » 2y = 3 and 4x+3y =1,

20 TF 60 m R ATF F A A ma.mqmmmawmmm
T A & 49 ;mﬁﬁﬁ%!}m*hﬁ[*mmmwm
60¢ ¥ 1w & et o il A fag ) g0 A FA 5

Two poles of cqual heights are standing opposite o each Other on either side of

the road, which is 60 m wide. From a point betwech, them on the road, the
angles of clevation of the top of the poles arc 30% and 60° respectively. Find the

heights of the poles and the'distance of the point from the poles.

0. faz &t fa gu & At eniael & @i @ e e @ &
&% | g A & 5
Prove that the linc scgment joining the points of contact of two parallel tangents

of the circle passcs through the centre of the circle.

31, OF @E B g0 AN TE A a9 aa ¥ 3R T 10 km/hr HUE T A
71, A1 30 Fraa wog @ 2 92 @ e 3R R 10 km/he B T AR, @ W
faua wma @ 3 92 Afue @1 g BT a9 @ I g0 I S 5

A train travels a distance with cqual speed. Il the train had run 10 km/hr
faster, it would have taken 2 hours less than the scheduled time and if it had
run 10 km/hr slower, it would have taken 3 hours more than the scheduled

time. Find the distance travelled by the train.
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ad

i3

ry ety _tanA | cotd
(I-cotA) (1-tanA)

»(l+tan A ¢ cot A}. 5

Prove that 1an A cot A
(1-cotA)* T-tana) "1+ tanA ¢ cotA).

ﬁwmhpﬁhamhomwmﬁﬂﬂmsﬁ%u}q
¥ ¥ 60" B, A op w #rt wm W s

f the angle between two tangents drawn on a circle with radius a and centre
O from an exterior point Pis 60, find the length of OP.

PN ST 262 R 20 km &0 el & o w5 W 292 F 4 iem A
T b T A S A 9w v & O T # 5
Nisha can swim downstream 20 km in 2 hours and upstream 4 km in 2 hours.
Find her speed of swimming in still water and the speed of the current.

35 em B F1 99 GG 1 37 99 W (4 Eitet Gin i e daad 6

S

Draw a dircle of radids™3'5 cm. Draw two tangents to the circle which are
perpendicular o cach other.

faere €A Fdfda waft carastd,
@mzapf 5831 o, - , Tsfate
&1e, 7
mmmmﬁm
Uz UTel & fAT...

BSEBResult.In
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